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oo (D)
(2)
(3)

(i}

TR gvq 39 2, 99 7 & fa-ET IR & 3597 A5 1

(Sftrepaw 31 : 70

[Maximum Marks : 70

Question No. | is compulsory, answer any FOUR questions from the remaining.

(i)  Hd® 9T & T gTT S FHAR UF G155 HNad |

Solve all parts of a question consecutively together.

(iii) N7 d% %7 1 74 J5 8 G Hid |

{1y

Start each guestion on fresh page.

211 Wi 7 3R g @1 R 7 st srgene g e 8

Only English version is valid in case of difference in both the languages.

mdawrg e wm AR 2

(a) <& (b) 3 TS

(c) Tewfygs dy Hz

Which one of the following is not part of Chassis ?

(a) Wheel . {(b) Front Axle

(¢) Differential (d) Seats

31 ufEdl & g & aeg i g FEerd) 2

(a) =EELF (b) o

(c) uvayd Al (d) I A H F1E A
The distance between the centres of front wheels 1s called
(a) Wheel Track (b) Wheel Base

(¢) Axle Width {d) None of the above
e qurefl o 3 2

(a) e = T (by grafem o i ufge W wymmEha HE

(c) 2R dHSH a9 Th a1 (d)  §99 FI el FGHT
Which one is not the function of suspension system 7
(a) To prevent rolling
(by To transfer driving torque o wheel
(¢) To make contact between road and tyre
(d) To improve cngine efficiency
(1 of 8)
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Tied viie veAay # 17 o) T wF H o6 A6 2
(a) ATZIISEA (b) AT
(c) EIggNH (d) @TEA TRHGERES
Which gas is used in Modern Shock Absorber 2
(a) Nitrogen {(b) Oxygen
(¢c) Hydrogen (d) Carbon dioxide
wF fe g b, o g gam aar 2
(@) =HAd (b) WH
(c) Taeraw vt g (d) 39l §F FE g8
In disc brake the disc is attached to the
(a) Wheel (by Axle
(c) Suspension system (d) None of the above
zd s Yot B | 9 gar Preen ) ufra w5 wga 2
(a) o &1 gl (b) sk =t THTd
(¢) o5 Fr=fifen (dy IO A H FIE T
Removing the entrapped air from the Hydraulic brake system is calied
(a) Pureing of brake (b)  Cleaning of brake
(¢} Blecding of brake (d) None of the above
= 1 g =t = aitafea T Far AT 2 7
(a) Ul e %9 (b) ¥ FAY
(c) SMaeg (d) Y=g FoTg
The following is known as positive clutch.
(a) Single plate clutch - (b) Cone clutch
(c} Dog clutch (d) Centrifugal clutch
Fedashomvs= @t -
(a) @A TS (b) IMUha Fo T
(c) v Fd (d) femrwm
Which of the following is not a friction clutch ?
(a) Fluid clutch (b) Centrifugal clutch
(c) Conc clutch (d) Disc clutch

Thl -1 3oTS I AT B

(a) U W aeaw = (b) 9wy 7@ e foard
(¢c) wdfigamwmdmftaad  (4) IvUE o
Advantage of free wheel unit

(a) Easy gear shifting at low speed

(b) Less wear in transmission

{¢) Tuel saving on long slope

(d) All of the above
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(10) 3T7a gred =1 A fehay svan 8
(a) Tirm o @2m & feg
(c) Tt g wgm & fore
Over drive 1s used
(a) To reduce gear ratio
(¢) To increase gear ratio

(3 of 8)

(by frat s fon @t o fa
(d) IuE ° B i T8

(b) To fix the gear ratio

(d) None of the above

(11) syl &0 § FH ¥ Y1 &1 =i S H A ?

(a) g &
(¢) fem==da

(b)
(d)

vefrfaay e e
AT UHTg <

Which type of wheel is used in modem cars ?

(a) Wire wheel
(¢} Disc wheel

(b)
(d)

Aluminium alloy wheel
Magnesium alloy wheel

(12) ZTgaem TR % | e 1 & 9t 3 e @ o 9 3 gsar 2

(a) fo= =i
(c) &rh! fgurg =

(b)
(d)

T S
FEAT e e

Which of the following type of wheel cannot be used with a tubeless tyre ?

(a) Disc wheel
(¢c) Lightalloy wheel

(13) T BN =ie gisa |
(a) ®I3 WA qU 3 &
(c) ZAFEYUEAR
In four wheel drive, there ig/are
(a) Nolive axle
(¢) Two live axies

(b)
(d)

(b)

(d)

(b)
(d)

(14) emiasa 1 fir gieqg #1309m 2

(a) wifyufEds & faw
(c) fd=er & fem

Gear box 1s used in automobile for

(a) Changing speed
(¢} Reducing speed

(b)
(d)

(b)
(d)

Wire whecl
Composite wheel

U 39 U BATR |
UH STYT AR |

One live axle

One dead axle
3ot witgda & feaw
afs @ &

Changing torque
Increase power

(13) e wifwe it o # gfiada & fou R o Sg F d s 2 2

(a) TOF IS
(c) ﬁ-‘ﬁ"?ﬁ‘ig

(b)
(d)

afyerier st
T A w A

For changing length of propeller shaft which joint 1s uscd 7

(a) Pinjomt
(¢} Slip joint

(b)
(d)

Universal joint
None of the above
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78 fawqu =8 &0 8t 2
(a) teas wid o (b) i€ TS R H
(c) T4 TS 9T I H (d) 3IFE A G FIE T
Tread distortion is least on
(a) Radial ply tyres (b)  Cross ply tyvres
(c) Cross ply belted tyres (d) None of the above
feskfore &fam § wad e firr g 2
(a) Tofiga e (by & e
(c) wT3e e (dy Fimfrge
The smallest gears inside the differential casing are
(a) Pinion gears (b) Sun gears
(c) Sidc gears (d) Ring gears

o 1 @ @ |1 sjage feaforwoeft Frum ad 2 2

(a) feator s (by 2™ I

(¢c) AFHaA 3 (d) T

Which of the following element is not part of steering system 7
(a) Steering wheel (b)y Drop arm

(¢) Knuckie arm (d) Tyre

uegiatam fictst stie | el osn fpma s @m 2 ¢
(a) UeEmTEy (b) g

(¢) da= (d) &< HEE

[n Aluminium cylinder block, the cylinder liner is made of
(a) Aluminium {b) Ccramic

(c) Brass (d) Castiron

(20) qvaa & afeat o sifrman el ww g 2

1)

(a) frmnfgm (b) T=AH fa @

(c) 3I=|NE™ (d) I adft g
Maximum torque on wheels of a vehicle is at

(a) Low speed (b) Intermediatc speed
(¢) High speed (d) All of the above
Tk 100 cc 99 | 100 cc HMES g9itar 2

(a) IR doh & (b) EiEE A GHal

(c) ¥T&e HEAT (d) foedzt srmam

In 100 cc engine 100 cc parameter represents

(a)  Fuel tank capacity (b) Lubrication oil capacity
(¢) Swept volume (d) Cylinder volume
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(22) F1 § Fuerge B il Al 2

(24)

(a) FEITHR F THHARH (b) HHIHR FH BHBIC 9
(c) Hue & Ay geht g8 (d) I9U% A T3 e

A camshaft is always placed in Engine

(a) Parallel to crankshaft (b)y Perpendicular to crankshafi

(c¢) Inclined with crankshaft (d) None of the above

ST wA 21 1 ge B A WE 2 1 e 2

(a) 0N W aweAiEes @ailt (b) 3= Wadl W adeEeg Tard!

(c) IFaR AU Wi (d) =y Tfen wiEmy

The disadvantage of radial ply tyre compared to cross ply tyre is
(a) uncomfortable ride at low speed

(b) uncomfortable ride at high specds

(c) higher cornering power

(d) lower rolling resistance

fezafin foie 2vs @& gau Am 2

(2) 3% 23 ' (b) TS
(c) gmiei® (d) foemm
Another name for the steering link rod is

(a) Track rod (b Tierod
(¢) Drag link (d) Pitman

T HRI § Ey 31T 79 B dren s fafon firn 2
(a) & aur fafas g (b) = Ut afag gEn
(c) 4 aY TA TR (d) 99 Fg7 AT THN

Most popular manual steering gear for cars today is
(a) Rack and Pinion type (h)  Worm and Wheel type

(¢) Cam and Roller type {(d) Worm and Nut type
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(26) TECH ®a1 % Al G 1 TG B 8
(a) <PT ¢3 i aut | fraa (b) HYF YT H FH AMI

(c) @E R (d) 39U weft

Effect of high tyre pressure

(a)  Quick wear of tyre tread (b) Reduce cushioning effect
(¢) Hard steering (d) All of the above

(27) &1 e GEI A T 2

(a) HEIH (by 9T

() THH (d) faufgan mfegaid
Air brakes are mostly used in case of

(a) Cars (b) Jeeps

(¢) Trucks (d) Three wheelers

(28) wrww yonedt A gfedw N FEE 2
(a) WA 99 &) e | giad
(b) Wi v &t ife # uiEd
(¢) Wt e & SHI0T 97 IOt TR
(d) 39U Tt
Work of universal joint in a iransmission system is
(a) Change of length of propelier shaft
(b) Change of speed of propeller shaft
(¢) Torque transmission at angle by propeller shaft
(d) Al of the above

(29) NENdETs I W ITE T | A T G < 2

(a) 8.9 394 (b) T &R

(c) ®ed (d) 39U ° E B AR
Most commonly used Power Plant in automobile is

(a) [C. Engine (b) Gas Turbine

(¢} Battery (dy None of the above

(30) U FGH & WL YT 1 Uisse Bial 8

(a) T-HEH (b) T-Hw=
(¢) U-H&= (d) Y-He
Section of middle part of Front Axle is

(a) T-Section (b) I-Section
(¢) U-Section (d) Y-Section
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310 $37 vva ulgen wrea &1 famarg o ease
Draw layout of front engine rear whecl drive.

U FAS g TRING T @l BH-S @ uem yaifaa i 2

What are the factors affecting the power transmitted by a clutch ?

(iif) 2TER & AT F FHIf F= T B FARET |

Write the factors affecting tyre life.

(iv) = fawg freatin =i wfonfia $ifsw |
Define centre point stecring.
(v) ‘HiZzawe & a fafige |
Write advantages of ‘scat belt’. (2x5)
(iy ang Fcaa yored #1 amifea Terfs 933 ue FRiveTE S J8 T asrs |
Draw labelled line diagram of Air Suspension system and explain its working in
brief.
(il) Tehd! g & oy g Ef=aa fafaa |
Write advantages and disadvantages of disc brake. (5+5)
(i) THeivEt eme & wan, F14 vd gl ol fefian |
Write types, functions and defects of cylinder liner.
(i) ared i fy w fafir wfedal v 3= wwifaa F3 T1@ S F1avia Hifae |
Describe different resistances on the motion of vehicle and the factors affecting
these. https://www bteronline.com (5+5)
fwfIma & 2 w0 fafge | difia e fEnRea f e3me g sedune & afas g

EAEI
Write two functions of differential. Describe construction and working of limited slip
differential with neat sketch. (1)

4

(11)

(1)

(11)

e Tag & wEEa € 9iea uiETEH 4" $ guensw |
Explain the valve operating mechanism with the help of neat diagram.
3 T9F 310 fReT 91 v 3y 9 9y uiRen | famnet i g Hifao

Compare front engine front wheel drive and front engine rear wheel drive layout. (3+5)

ZTeh sadt 1 G5 4 Ui HIRY |
Describe the torque converter in brref.
Higet B ywR 7 sRwH B yer s=a 6 vfaa o £ |

Compare coil spring type and diaphragm spring type clutch with neat skeich.  (§+5)
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8. (i) e UEd @t H HET H gHeEe |
Explain the tubeless tyre in brief.
(i) fRatd s & frarg fag gaTze vd T SR FHEy |
Draw the layout of vacuum brake and cxplain its working. (5+5)
9. e ufim feoaftr fefan ;
Write short notes on the following :
() T 9 i uaATER
Gas filled shock absorber.
iy e figfen
Tyre Retreading.
(iti) et fqure wEEn
(3+4+3)

Fluid flywheel
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